HERLANZ / Components
No. 2 ¥ / Part name = / Pcs & / Material - FREWE / Color-Finish
1 kv FHs8— / Top cover 1 ASA#tEE UL94HB / UV-resistant ASA UL94HB HRIARF'L— / White gray
HPREABSHIE (UL94V-0 E AL %) / Flame-resistant ABS UL94V-0 F3—)L% L— / Charcoal gray
2 | /RF4— / Bottom base 1 ASA#EE UL94HB / UV-resistant ASA UL94HB RITA LT L— / White gray
HPREABSHIE (UL94V-0 E %) / Flame-resistant ABS UL94V-0 F3a—)L5 L— / Charcoal gray
3 | FS5A2KAH/N— / Blind lids 2 ASAHAE UL94HB / UV-resistant ASA UL94HB RITA LT L— / White gray
N SYRMEABSHEE (UL94V-0 M 5) / Flame-resistant ABS UL94V-0 F3—JL%5 L— / Charcoal gray
4 | HR4 Yk / Gasket 1 2 1)arI L / Silicone 7594 / Black
5 |EFER(NAUK M3x8) 8 ATULR miunE
Screw (Binding head M3 - 8) Stainless steel Unfinished
]
3

4
2
5
BT =h)LT—4 / Technical Datall
{REEZHR / Protection class : IP67
{F R ESIR / Operating temperature : ASA —10°C ~ +60°C
ABS -10°C ~ +50°C
##{ThILY / Recommended torque YT
=]z} Ite
$173— / Top—cover fastening : 0.45N=m ~ 0.55N-m TAKACHI| XSt hFEHITE IP67R5 KA Y R @ G
F 4R / PCB mounting : 0.2N*m ~ 0.3N*m TAKACHI ELECTRONICS ENCLOSURE CO., LTD. IP67 NETWORK PLASTIC BOX =ESe
= - 1o : % /Scale
@,ﬁ:% (FIEXEL) / Color Type (End of product number o) 72/ Approved &M /Checked #1[X|/Created #F /Product number
585 / Code £ / Color #E / Material ] WP20-20-701
G RIT AR5 L— / White gray ASA#HE UL94HB / UV-resistant ASA UL94HB 4R Bt #H - 1/ 4
c Fxa—)L5L— / Charcoal gray | BYATEABSHIE (UL94V-0 E %)) / Flame-resistant ABS UL94V—0 fERLE /Date 2019/09/09




200

65

4-R24

200
4-R0.5
1525
—
Lr)l JI
¥ T T
B ]l B
— A
<
<
B-B(1:25)
1 LJ |
I LJ L) L—ll v v I
3.25 3.25

A-A(1:25)
o 136.5 4-243
N
1 ™
ﬂ‘% Fi.) & ® @\
- O
ul
4]
3.5 58.5 3
I 0
O Y ® NS
5 = ®
u|
H O
\ég & %% ] @/
4/ Title —
TAKACHI| RS AhFEHRIE IP6 7R KA wo R @ [
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. IP67 NETWORK PLASTIC BOX
7K F2/Approved 18X /Checked HIX/Created FIFE /Product number RFE&/Scale
WP20-20-700 125
iR ESZ S H 9 / 4
1R B /Date 2019/09/09




My T H/8— / Top cover

200 G (1:25) 168 8-M3A 2 —hFuh
152.5 4-R2 e 8-M3 Insert nut
c 4-R0.5 1 162
———————————————— iy iy 6-M2.6 FAEAREL 7R R
@\ K \ ”8 KE\ ! 6-M2.6 Boss
AYd
al
1.5
3.5 16.5
g8 & o o g
N U_’ T T — —_— -
D D
5
al
15.3
I~ ¢
#—k / GATE
186
6—22.8
o
S L |
2-210
© L, — ol ©
= — N
6
D-D(1:25)
L] |
@— e :—% 162
18] L
ALK * RFELTHLEEA
Recommended PCB dimension * NOT SUPPLIED
A /Title
TAKACHI| #REHINDFERIE P6TRE kAR X @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. IP67 NETWORK PLASTIC BOX
7K F2/Approved 18X /Checked #1[X|/Created #F /Product number RFE&/Scale
WP20-20-701 1:25
iR ESZ S 1 H 3 /4
{ER{ B /Date 2020/12/9

R
b




—

7" +1— / Bottom base

Lo
<
4-R24
200
- E
Vo o o ©)
o
S T e & T
N
F F
o
\@ O @ o] %
<— E
2-MAR A Y =bFyb (K= b WPMB-M4-28R 4 )
2-M4 Insert nut for Pole mounting bracket (WNPMB-M4-2)
F-F(1:25) @6.5
3.25 1] 3.25
o
(9]

4-MA4 R S} ERER A ]

4-M4 Mounting hole 168
6-M2.6 FA EARER R X
153 6—-M2.6 Boss
E-E(1:25) 136.5
F
]
3 ?I 42
')
A ~ IS
. -
=]
08
188
HEREGEBIK * BRFELTOFERA
Recommended PCB dimension 35.5 117 355
* NOT SUPPLIED
6—22.8
& | ® 1\..\,..F |
S )_.._J . >4
4-212
© © —. - ©
2 h ) (o ©
6.5
L2 S
- n ~
~ L= ] L 5
L I 4-R3
153
mn/Title
TAKACHI| #etahFEMITE P67 KA w5 R O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. IP67 NETWORK PLASTIC BOX
7 &%/ Approved 18X /Checked #1[X|/Created #F /Product number RFE&/Scale
WP20-20-701 125
hif B4 8 . 4
e A /Date 2019/09/09




	WP20-20-7
	WP20-20-7 Model (1)
	WP20-20-7 Model (2)
	WP20-20-7 Model (3)

